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Lég E: %> @ @ Multiply decimals by powers of ten

Name: Date: Score:
1.436 x 1000000 = 8.939 x 10000 =
3.934 x 100 = 3.549 x 1000000 =
6.365 x 10 = 3.242 x 100 =
7917 x 10 = 3.209 x 10 =
5.909 x 100000 = 2.106 x 100000 =
9.608 x 1000 = 5.947 x 10000 =
7.107 x 100 = 2.461 x 1000 =
3.528 x 1000000 = 8.912 x 1000000 =
5.779 x 100 = 3.82 x 100000 =
2.905 x 100000 = 4.319 x 10 =
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Lég 8: %ﬁ> W @ Multiply decimals by powers of ten

Name: Date: Score:
1.436 x 1000000 = 1436000 8.939 x 10000 = 89390
3.934 x 100 = 393.4 3.549 x 1000000 = 3549000
6.365 x 10 = 63.65 3.242 x 100 = 324.2
7917 x10="79.17 3.209 x 10 = 32.09
5.909 x 100000 = 590900 2.106 x 100000 = 210600
9.608 x 1000 = 9608 5.947 x 10000 = 59470
7.107 x 100 = 710.7 2.461 x 1000 = 2461
3.528 x 1000000 = 3528000 8.912 x 1000000 = 8912000
5.779 x 100 = 577.9 3.82 x 100000 = 382000
2.905 x 100000 = 290500 4.319 x 10 = 43.19
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